Ej FJDynamics

§ Packing List

* Check that all the items following are in your package. If any item is missing, please
contact FJD team or local dealer.

FJDynamics AT2 Lite Auto Steer System



No. Name Number | lllustration (for reference only) | Check No. Name Number | lllustration (for reference only) | Check
16 GNSS Receiver 1
1 Electric Steering Wheel 1
17 Antenna Bracket 2
2 Control Terminal 1
18 3M Sticker 2
. 19 Self Drilling Screw ST4.8x25 4
3 Control Terminal Bracket 1
20 Main Power Cable 1
4 Control Terminal Bracket 2 1
21 Main Wiring Harness 1
5 Cab Charger 1
6 Type C Cable 1 22 Main Power Cable 1
A D)
7 Assembly Bolt M4x14 6 Q)
23 | GNSS Receiver Wiring Harness 1
Hexagon Socket Head "
8 Cap Screws M6x20 2 -(
o Spring Washer M6 2 = 24 Angle Sensor Assembly 1
10 Plain Washer M6 2 @
25 (Nylon) Cabile Ties 20
il Nameplate 1 e‘
‘ 1
5 e
12 | Self Drilling Screw ST5.5x38 2 <pwm]] ® Certification ] —
13 Self Drilling Screw ST5.5x50 2
illing W —
27 Warranty Card 1 —
14 Radio Antenna 1 % + —
L
28 User Manual 1 —
15 3M Sticker 1 O [—






